
수학 1학년 2학기
4. 덧셈과 뺄셈(2) 세 수의 덧셈 (1) 1학년 (     )반 

이름(              )

 (1)        (보기)  (2) 보기와 같은 방법으로 풀기  (3)

  4 + 2 + 1 = 7
      

       4         6
                      

    +  2       +  1 

    6         7

  2 + 5 + 2 = 
      

       2         
                      

    +  5       +  2 
         

  5 + 1 + 2 = 
      

       5         
                      

    +  1       +  2 
         

 (4)  (5)  (6)

  3 + 3 + 3 = 
      

       3         
                      

    +  3       +  3 
         

  2 + 4 + 2 = 
      

       2         
                      

    +  4       +  2 
         

  1 + 4 + 3 = 
      

       1         
                      

    +  4       +  3 
         

 (7)  (8)  (9)

  3 + 2 + 1 = 
      

       3         
                      

    +  2       +  1 
         

  2 + 2 + 2 = 
      

       2         
                      

    +  2       +  2 
         

  3 + 3 + 3 = 
      

       3         
                      

    +  3       +  3 
         

 (10)  (11)  (12)

  4 + 2 + 1 = 
      

       4         
                      

    +  2       +  1 
         

  1 + 4 + 2 = 
      

       1         
                      

    +  4       +  2 
         

  5 + 2 + 2 = 
      

       5         
                      

    +  2       +  2 
         

 (13)  (14)  (15)

  6 + 2 + 1 = 
      

       6         
                      

    +  2       +  1 
         

  7 + 1 + 1 = 
      

       7         
                      

    +  1       +  1 
         

  3 + 4 + 2 = 
      

       3         
                      

    +  4       +  2 
         



수학 1학년 2학기
4. 덧셈과 뺄셈(2) 세 수의 덧셈 (2) 1학년 (     )반 

이름(              )

 (1)        (보기)  (2) 보기와 같은 방법으로 풀기  (3)

  4 + 2 + 1 = 7
      

       4           6
                      

    +  2       +  1 
       6          7
         

2 + 1 + 3 = 3 + 2 + 2 =

 (4)  (5)  (6)

4 + 1 + 2 = 3 + 3 + 2 = 2 + 4 + 3 =

 (7)  (8)  (9)

3 + 3 + 3 = 1 + 4 + 3 = 2 + 4 + 2 =

 (10)  (11)  (12)

3 + 2 + 4 = 4 + 4 + 1 = 5 + 2 + 2 =

 (13)  (14)  (15)

5 + 1 + 2 = 1 + 6 + 2 = 2 + 5 + 1 =


